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2A: S22 SEMBNAD

HH: SENALSHUSHANZN (SYHYS4/5 - 5&)
ool s9 - SENE ASE XY (sl &
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 Sl ko HRs2
s)|=% sEHEXNFL 5,138,963 4,610,437 528,526
= 986,600
= 1,815,000
&2 30,000
= 2,307,363
SENALSSLEASFA (NS s - SE) 5,108,447 4,586,340 522,107
= 986,600
z 1,815,000
= 30,000
= 2,276,847
=2 - =sENE ASE R 1,968,702 1,828,500 140,202
= 675,000
= 390,000
= 903,702
SEXHA S IR &k &t 803,702 593,500 210,202
101 @1 24H| 9,702 9,500 202
VPR EENEEPS 9,702 9,500 202
ORESAsD2A B2
0,830& »1H »220 8,983
CI50HAtSI 28 719
201 Et2Ad| 30,000 0 30,000
01 At 22l 30,000 0 30,000
Oget=&H| 30,000
O SA S A S XL 24 30,000
307 2I2H0| 50,000 50,000 0
05 BI”tRIErZ 50,000 50,000 0
ZSHESANSIISH 50,000
308 AtXIEHHM S 01 309,000 159,000 150,000
01 MXSHBAEES 309,000 59,000 50,000
DX HESESANSS
100,000,000 *57H1 £ *30/100 150,000
mEEEN LY
10,000,000 *23JH 2~ *30/100 69,000
OO0 SEHNE DA
0,000, 0002 104 2 *30/100 90,000
403 XXM S K201 ™ 405,000 375,000 30,000
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Z 10,000
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SENYDEHEN2Y 23,000
2 11,500
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05 QIZtREZ 55,000 0 55,000
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2 10,000
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OsszZoptgoiedy 35,000
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SEMETALET 218,305 283,600 65,295
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01 AL 22l 52,100 66,000 13,900
LT = 1 20,000
OsZEMEXNIANG2AELEXNESR 20,000
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308 XX SISOl A 3,780 0 3,780
01 AXIEMBAEEZ 3,780 0 3,780
OsZ=MES I ANER2-=H0IH A H> 3,780
NEBPS) W24 (sPRBAH L) 3,200 0 3,200
=2 1,600
& 1,600
202 (4 Hi 3,200 0 3,200
= 1,600
== 1,600
05 2F& WE0HH| 3,200 0 3,200
ONEBRAI|H2 2004 3,200
=2 1,600
= 1,600
s&ATHHO (B X) 140,000 150,000 A 10,000
= 140,000
403 XXM S K20 ™ 140,000 140,000 0
= 140,000
01 AXEHA=Z2E xR 140,000 140,000 0
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= 140,000
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= 80,000
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= 30,000
308 X %I CHHI S 0| 30,000 11,500 18,500
= 30,000
01 HXCHZAEED 30,000 11,500 18,500
O=20MeH oA 10,000
= 10,000
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= 20,000
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OAHINsSEME NS 10,000
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SENHLIEEZZ)|Is(MIIs22AY) 50,000 70,000 20,000
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403 JHXISHHSA20| A 50,000 70,000 A 20,000
= 50,000
01 AXHAMANEE X 50,000 70,000 A 20,000
OsZ00LE &) 50,000
= 50,000
SHAEE S XS 369,440 283,540 85,900
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A slI= sEMHEIA N

=R +§xr°Mﬁ SGUBAGEA (SYHYLM/5Y - 55)

°Hel: sHEESAA (ctel &
SO (B H) - HEAY - B2 A} OH &EIE ot
_I_ o=t T = — O T — /M 0:”{:'_% o
OZHOIXIsS A 2=l 8,000
202 44| 4,000 4,000 0
01 2LHOHHI 4,000 4,000 0
OJEESMHRFENHI 4,000
401 Al HIZ 2T 20,000 0 20,000
01 A& HI 20,000 0 20,000
OUEIZAHIESSH 20,000
405 KHaHFE S| 130,000 80,000 50,000
01 AL =2 EFHSHI 130,000 80,000 50,000
COAIAEEZIISLSHAIAE RS 40,000
OCHUWANBIAESHEALAXE S 50,000
Dol dE8sEFEP LY 40,000
HY 22U (sYI =23 sE=MEXJAD)(IIEHIIE 30,516 24,097 6,419
29| 21,716 19,097 2,619
S22l 21,716 19,097 2,619
101 @1 24| 21,716 19,097 2,619
03 RIHAZZ N ES 21,716 19,097 2,619
OAIRE X 21,716
(OPIE=t=1 40,8303 x 15 252 10,290
O&0HZ 10,290, 000& *1/12%400% 3,430
OF=5=Y 40,830& x1Z »52 2,124
OH Xt 40,8303 x 1 22 899
Oxge=z2aY 40,830& *1.5% 1 +x8 490
OAlZI2I222Y
40,830 *1/8%1.5x1H x4 A| 2tx36L 1,103
O=& ¢l 800
Ouns2=xH| 60,0003 x1E+12& 720
OZESItt| 150,000 *1H 23| 300
OFHZAH| 130,000 x1H = 12& 1,560
3l 8,800 5,000 3,800
=2 8,800 5,000 3,800
405 RtaHFE S| 8,800 5,000 3,800
01 AL ESFHSHI 8,800 5,000 3,800
O3ASEI 7L 2,400
OZ2E (1) 500
CIPCT & (3CH) 4,500
OCIX €2t 2H(20h) 1,000
OZED(1) 400




